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bogoem dodgol dods@mygangds gdmbgggs ©gbol wewgdom Jods®-
0 gdol, 9dbgds Loby U =U,, =V, =9, —¢, =1Z.
300bdmgol gobmbgdo. dywdogo wgboli F@grgdol sbe-
@y Yo godhggm ©gbgdol wowgdom JodoMmmnymrgdgdl ws
>03b60dbogm aoblsbogrggaro Fogools Lgdoby.
300b3mgolb 3oMggmo gobmbo gargdGOgmo Fogeol 3gs6dolsm-
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dmdogomo ©gbgdo 9bes so@me (=) bodbomn b Lsdo@mobio®me.
300bdmgol gmeyg 3obmbo aodmoygbgos bgdoldog@o Bsizgdoeo

920 93O g0 Fogeobsmgol. dobo Lobgs
ZEk :ijzk’
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n
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g Zk dodgols gomwbs. bodbgdo 0fgmgds
shogrmya@om bgdmm swbodbyeabs.
4.5. 3033ggdby@o Loddmogy

i b(g')gi)@;]db‘g](ﬁo Lboddgnagmg oMol 3md3ggJligdo dodgols ©s
©QJooL bdIMSFERO

S =UI*=Ulcosp+ jUlsing =P+ jQ =Se?
oo S=UL - legero Loddansgdgs;
P=Re[ S ]= Re[UI *]=Ulcosp - s]®oy®o Loddasgmyg;
=Im[UI*]=Ulsing - ®g5]®oy®o Loddasgmyg;
I* - 1'(;(')83;@;](-]1)";]@0 ©gbols dgymeang
gm0 960
dsaamomo 1. dmzgdygmos jmddemgdly®o ©gbo i =25¢" 05
dodgs U =75¢"". 03mggmn Fogool Fobspmdgdo Z, I ©s X.
U 75¢77 22

3dmblbs. 333 gJbygdo Fobommds Z =— 7 ——15—3~e‘
2507

E

mdo, s5Jgsb z= 3 mdo; 7 =3c0522° 90 >

: x =3sin22° mdo.

i ] dsaomomo 2. dmzgdymos ggobddo dgdogogmo

s godmdsgomo ghmosnyogg Lobdomols wg-

69d0 (bob. 4.3.). 03mggom odmdsgsgmo gbols

iy 5330 yws s Lofyobo gobs, my

iy =1, sin(@t+y,) o i =1,,sin(axt+y,).
3dmblibs. jodOb3mxol 3oMggamo 3obmbols

bob. 4.3. 0obobdow iz = i1 + iy, oby

iz =y sin(et +y;) + 1o, sin(at +y,) =
1 sin(@t-+7)

Ay ////’///// sdm30bs 5dmoblbgds ggJ@medyao ©o-
Iim -7 e / 5p®5d0l s gd0m (0b. bob. 44) ob jmd-
/ 3engdbgdo Goibggdol yodmygbgdom.
v, / 39JB600 a0 Jgmmo. bsdogdgamo ©g-
Vs e bol ggdBmeo yomol dgdsgoemo ©g-
vy, " ox 6gools 39JBmMgdol a9m3gB@oge xodls

Ly = Lo + Loy > 569 35G000ganmadodols

bob4 4. ggosbmﬁsml). 0y ILIB6To sg0y9m
bobobo, 35Tob 30G@s30@ gmog)(ﬁo?)oggoﬁ g3mgamdm  3sbgbl. o
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‘d93030bmmn asdmmgeroamo dbodgbgermdgdo.
J033@9 b0 Fgomeapo 0dwggs Logoegdsls dmgodomo sdm-
boblbo dmJdgegdgdom 3mI3agJbyg® @oibggdby:
I.3m = I.1m + I.Zm = Ilme”/1 + IZmeW2 =

=l (COS Yy + jsiny;) + lop (COS Y, + jsiny,) =

= (IymCosyy +1,,C08p5) + J(Ilm_5|m//l +1opsiny,) =

=13,,C08 /3 + JlgySinys = I:’,mew/3

13, = \/(IlmCOS‘//l +15,C08y5)° + (1, SNy +1,,Siny,)”
o, = L, siny, +1,,,siny, .
1,008y +1,,,C08 ¥/,
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